250128-notes.notebook

Questions for today?

January 28, 2025

I'll have Week 2 Written Posted later today.

Grade Reports Coming Soon (today or tomorrow)
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@ Find the slope of the secant line PQ correct to 6 decimal places for the following values of x:
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Coming in from the right,
the slopes are smaller than
coming in from the left. It's
steeper to the left of x =7.
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Using Desmos to compute a bunch of slopes. The idea is to come closer and closer to x =7

to come closer and closer to the actual slope of the curve.
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